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Afer: () =9 ve-ua dQ wve o gy &1 2N @uet & Wt 30 v e g
Directions: There are two sections'A’ and 'B' in this question paper. All 30 questions
of both sections are compulsory.
(i) st g FeiRe 3@ 3% Twa 3ifed €|
Marks alloted to the questions are mentioned against them.
(iil) T T BN LA Ui T FHfad 3R alfote|
Read each question carefully and answer to the point.
(iv) T2 T%=T 1 ORIT 16 SEfasedd 7 €| =9 gl & YD WUS F TR H IR
frepeg 2y e €1 TR [oeq 3o SeRuaeT ¥ foRae | e e 2 9 5 7
17 ¥ 20 96 M¥Td FRIT 77 ¢
Question No.1 and 16 are multiple choice questions. Four options are
given in answer of each part of these questions. Write correct option
in your answer book. Question No. 2 to 5 and 17 to 20 are definite
answer type questions.
(v) W H%ET 6 ¥ 9 qUT 21 I 24 e Yl &I IR 1N 50 &l H &I
Question No. 6 to 9 and 21 to 24 are to be answered in about 50
words each.
(vi) STo T%EAT 10 I 12 T 25 F 27 6 YD Bl IR I 70 Y&l A Gt

Question No. 10 to 12 and 25 to 27 are to be answered in about 70
words each.

(vii) o TS 13 T 15 9T 28 A 30 AP YIS BT IR THT 120 Tl § difore |

Question No. 13 to 15 and 28 to 30 are to be answered in about 120
words each.

(viil) 3G JT-UF T T R DS e 8T & qiy sfua yei 7 SaRke fadbed

e fopar &1 O ugHl § aet U faded BT & FKR alfore |

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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Qug - 31 (Section — A)

1. () foeh srfarawn § To & 99T B BRUT &: 1
(i) TETeET B eI (i) ufd =afp 3ma
(iii) SNyt (iv) SETeET B B

Reason of the 'problem of choice' in an economy is :
(i) Excess of resources (ii) Per Capita Income

(iii) Technological development (iv) Scarcity of resources

(@) o a A & 1
(i) SIS ORGP (i) UR® IxRIL
(iii)  TenfRrar o awe (iv) =99 9§ &1 &
Tea and Sugar are :
(i) Substitute goods (i) Complementary goods
(iii) Luxury goods (iv) None of the above
frfer # oRad=
(M) m—ﬂm% i
(i) DT 3ITQ (ii) 3itaa 3aTE
(i) T 3@ (iv) 5 9 355 98
= ) Change in output .
The value of S
(i) Total Product (i) Average product
(iii) Marginal Product (iv) None of these
(a) FrafoRad & & S gof uforaer &1 @emor 72 & 1

(i) TR § §8) Te & g g faghat & 2
(i) H! BT SR ¥ 5991 9 Sfetee o & g
(iii) pHl GRT 3cTfed avqt UHed axil ¢

(iv) Hl GRT 3afed awe teed &l &Il 2|

Which of the following is not a feature of perfect competition:

(i) The market consists of a large number of buyers and sellers.
(i) Entry into the market as well as exit from the market are free for
firms.
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(iii) Firms produce homogenous products.
(iv) Firms do not produce homogenous products.

2. 150 vPR & aefeaw # s fhar-sad o1 [HeiRoT aTeiR & Rufd & SR gl
a2 1
In what type of economic system all the economic activities are organised
through the market?

3. HiT ach B FGUTAT (BTeT) TTEROTE: S &l 87 1
What type of slope does a demand curve generally have?

—

4. U aeq @ TRl sMaTaEdT B IRIK @] & e o1 BECTR R?

What 'the want-satisfying capacity'of a commodity is called?

5. 3P ¥ B 579 oRe § uRade ax Tl &, I T HaEd &2 1

What the factor is called, which the firm can vary in the short run?

6. waftc 31T I 31T FIT THHS &7

What do you understand by Micro Economics?

P

7. EaE E $ aiowa S 91 e 82 2
What is Decreasing Returns to Scale?

8. 3TCUBICT H U BH B! HoT I df 0T B Bl STl &2 2
How the total cost of a firm is calculated in a short run?

9. 3w gl fawg fbd e &7 ?
What is the Shut Down Point?

10. T B P AT T 3T FIT THA & ° 3
What do you mean by the price elasticity of demand?

11. &1 3FRMF a% B Ub GIR B a4l el Pled &? WE DI 3

Why do two indifference curves never intersect each other? Clarify.

12, 3cITE Be o Hehea-TT P IaTex0T Hied T Hiford | 3
Explain the concept of production function with the help of an example.

3AYdi/OR
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13.

14.

1.5«

ﬁaéhéFﬁﬁﬁwﬁ@ﬁﬁWﬁﬂWﬁﬁﬂﬁﬁviamﬂa%mmﬂdﬁéﬁ:

In the following given table, calculate Total Cost (TC) and Average Fixed Cost
(AFC) :

Ffa | paferama | oo oRed o Paara | sitad fer dme
($B13d1) | Total Fixed Cost |Total Variable Cost | Total Cost Average Fixed Cost
Output (TFC) (TVC) (TC) (AFC)
(Units)

(9) ®) ) ) ®)

0 20 0
1 20 10
2 20 18
3 20 24
4 20 29
5 20 33
6 20 39
7 20 47
ﬁmﬁaﬁﬁﬁ%ﬁﬁha%$MHﬁmaﬁﬁmﬁmaﬂﬁaﬁawaam§?amaﬁhﬁmw
ifsr| 5

What are the determining factors of price elasticity of demand for a goods?

Explain with the help of examples.

éﬁhmﬁqéﬁmaamﬁaaavnﬁﬂaamaaﬁé@fﬁmééﬁé?%ﬁﬂ?%%ﬂﬁ@?l5

What do the long run marginal cost curve and the average cost curve look like?

Explain in detail.

afcrTeRiEd AT X 3 T THe &2 we S| 5

What do you understand by Non-competitive markets? Clarify.
3di/OR
SreafémeR # B i waER @t &2 Ty

How do firms behave in Oligopoly? Explain.
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@US - § (Section - B)

16. () mmﬁq@ﬁ%%ﬁm%mé,aﬁwﬁ 1
() FRw g (i) zam =g
(i) 3y (iv) 395 9 IS 78

The expense which raise productive Capacity is called:
(i) Investment €xpenditure (i) Defenece expenditure
(iii) Wastage (iv) None of these
(@) qa1 B o501 wfth & e b aref 1
() I3 B Pt F 9y (i) %37 &t B suRafsy &
(i) GNP Bt # gfy (iv) 579 3 I 7a
Meaning of deterioration in the purchasing power of money is:
(i) Decrease in prices of goods
(i) No change in the prices of goods
(i)  Rise in prices of goods

(iv)  None of these

(M) 3iRTa 3medny g (APC) &7 U1 2y - 1
. AC 1 3
(i) AY (i) s+c
iy < vy S
Average Propensity to Consume (APC) is equal to :
_ AC 4
(i) e (i) s+c
(i % (v) 2
() SR F=ge ure &1 8nm, gt - 1
()  Frafa > s (i) 3mam > Fafg
(i) 3ma = Pty (V) &9 X P 78
Balance of Trade (BOT) is said to be in deficit, if:
(i) Exports > Imports (i) Imports > Exports

(i)  Imports = Exports (iv) None of these
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7.

18.

19.

20.

21.

22.

25,

24.

25,

26.

27,

317 il @1 O: JereT Wehw & fobeiT T TR ¥ T oAl USel 8, § &1 el 67
1

What those goods are called which do not pass through any more stages of

production?

37 & Ry 55T IRAST & Bereany, ITEN H uRad= & a1 HEd 2 ° 1

What the change in consumption is called due to per unit change in income'?

R Red (Ceteris Paribus) T < 37 FT &7 1

What does 'Ceteris Paribus' literally mean?

YRA H I%q Td Ja1aR e ¥ e fbar e 1

When did the Goods and Service Tax come into force in India?

awq fafemr yorett o &7 9! @1 B 87 2

What is a Barter system? What are its drawbacks?

5T B AT FT DI A 82 2

Why money is demanded?

e @1 aRanfia Sifsa| 2

Define Investment.

foeen fafma = 9 e &7 2

What is Foreign Exchange Rate?

e arfeTes &1 3gHa BY gIN? I B =T 3

How did Macroeconomics emerge? Mention

4T X AT I I 37T FAT FHIAS &7 3

What do you understand by Repo Rate anc Reverse Repo?

AT HEH (BOP) & U] WA & Ued aasd| 3

State the components of current account of the Balance of Payments (BOP).
3[[i/OR

faeeh fafma ek o3 @ea &2 W Sifse|

What is foreign exchange market? Clarify.
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28. Hey afefa oz -f’us’?a%‘ﬂmméﬁﬁarﬁr%‘?mml 5
How is National Income Teasured according to Value Added method? Explain.

29. ferm T T = o B Sarfaf we B 5
Describe the multiplier mechanism in the reference of the creation of excess
demand.

30. Lu;;WW'QDEWW”*ST&TWWI 5

What is a deficit budget? Write its merits and demerits.
JYAI/OR
T U P AT Y & == 7 27 Ty

How the Fiscal Deficit is measured? Explain.

X % %k %k %k
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